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CHEMISTRY APTITUDE TEST —2018

Stage-1I (for Class X)

Full marks : 50 Time : 1.30 hrs. (90 min.)

Answer all the Questions. There are 30 MCQ (1-30) in Group A each of1

mark. Each MCQ has been provided with four options. Shade the correct
option with ball point pen in the appropriate box in the Answer Script. Multiple
Shading is liable to cancel the relevant answer. 0.25 mark will be deducted
for wrong answer to each MCQ. Group B contains 10 questions (31-40)
each of 2 marks - answer these questions in the space provided for in the

Answer-Script.

GROUP-A

Multiple Choice Questions : All 30 questions : 30x1=30

1. Which of the following metals fails to evolve hydrogen gas with dilute
HC1? |
(Rresz @i e 7Y HC < Rt 2Rugite 55t Ses F30s At =1 ¢)
(@) Zinc (forer) (b) Iron (=)
(©) Aluminium (@fifa)  (d) Copper (F1)|

2. Which of the following is a double displacement reaction ?
(s o fa- 2= Rfee 2)
(a) Cl,(g)+2KBr(ag) = 2 KCl(aq) + Br,(g)
(b) Zn(S)+FeSO,(aq) = ZnSO,(aq) + Fe(s)
(c) CaO(s)+H,0() — Ca(OH), (s).
(d) Pb(NO;),(aq) + Na,SO,(ag) = PbSO,(s) + 2NaNO,(aq)

3. Which one of the following processes involve chemical reactions ?

CiZ] oo AT Rt aeefs ¢)
(a) Storingof oxygengas under pressure in a gas cylinder.

(ST FAFTROIC 5ol TR HETw i)
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) Liguefaction ofair. (ST wadies SR
@ Keeping perrol in avpen china dish, - (e BN S it
TR )
(@) Heating copper wire in the presence of airat high tempemiture.
COTIURY WY B IR S W Dy )
Which ol the fallowing salts docs ot contain any waterof erystallization ?
(O RN TR STW! GRRTR & QTS 1)
(@) Bluevimol (3 &)
(b) Baking sods (RRR GTS)
(©) Washing soda (WF Wi GISY)
(@ Gypsum (Re)
Sodium Carbonate is a basic salt because it isa saltof -
(oo WED b Wi W e e -)
(8) Strong scid and strong base (8y w6 Sy )
(b) Weak acid and weak base (TR ¢ [ wiw)
(¢) Stong acid and weak base (SywE s e wm)
(d) Wesk scid and strong base (5 wrrs Sy ws)
Which of the following statements is correct about an aqueous solution
ofan scid and of a base ?
(=T o e 60T 0ol o TR it A o R it ¢)
0 Higherthe pH, stronger the acid.
(3= pH ¥, Sxwm)
©) Higherthe pH, weaker the acid.
(5% pH ¥, T ww)
&) Lowerthe pH, stronger the base.
(pH & Ry ==, Sy=w)
) Lowerthe pH, weaker the base.
(pH = % =, W)
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Which ucid does not have anacid salt?
(T SNPGRS . 1)
@ H,Co,  (MISO,
Which of the following produces brown fumes on heating ?
(et st S sicaicst i el 3% 0 1)

(@) Acetic ncid (il afts)

(b) Sulphuric acid (1 TR afre)

(¢) Nitric acid (<R iPrs)

(d) Hydrochloric acid (aRgiiRE afe) |

Coating of an object with zinc is called -

(oI AL FRTewa A (et +ivefSTs 3cet -)

(¢) CI1,COOH (d) PO,

(@) Anodizing (SUTAISERR)  (b) Galvanizing (TeTerIERR)
() Anncaling (SURRR) (d) Sheardizing (RursiZfer)
. Which one of the following compounds has both electrovalent and cova-
lent bonds -
(N5 DTS SR ¢ T I 6 1)
(@ NaOH ()N, (c)NaCl (d) C,H,.

Which one of the following electronic configurations - represents a
metallic character ?

(A @RS aeg AN )

(@) 2,8,4 (b)2,8,7 (¢)2,8,8 d)2,8,2
Which one of the following is an ore of copper ?

(N7 @D Feias wafis 1)

(@) Cryolite (FEIES) (b) Chalcopyrities (sremceizaias)
(c) Magnesite (OIITHAIRD) (d) Siderite (Fireab)

How many electrons are there in a Nitride (N*-) ion ?
(FTRGTRS (N*) o 2% Reralat (e7) wiee 1)
@ 7 (b) 10 (e) 11 (d) 14,
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14. Magnitnde of 1amu is-
(1 2mu I W -)
(8) 1L66x10™gm ()9.108 x 10 gm
(©) 16.66x10%gm (d)0.9108 x 10 gm.
15. Which of the following is a neutral oxide ?
(o7 b zrw =rils 1)
) CO MNAO () SO, (d) N,0,.
16. Milkhsanvaht&WMwouldbemepHofCurdobminedfmm
milk ?
(7= pH. ¥R R @@ pH 73 -)
@ 6 ®)7 (c)morethan 7 (d) less than 6.
(8) © (b)« (c) 2 @7 s & (d) © G774 )|
17. 'Which of the following ion is strongest oxidant ?
(ﬁmmmmmwrmmﬂm
(@) Na* (b)Ag (¢) Cu™* dAar
18. Th:mmudoﬁrmdm-strucuneofawammolectﬂeis-
(TR XPRE B 5% 15 2 -)
(@ H:0:H @®H:0:H (©)H:0:H (@H-0-H
19. Bilchnmmﬂmisanaﬂompicformof-
mﬁﬁmmﬁqaﬁmmw-)-
(8) Nitrogen (F%5E) (b) Sulphur (zTev)
(c) Carbon (IRR=) (d) tin ()
20. ldmﬁﬁ'ﬁrmsanmaioompoundsﬁnmﬂ:efollowing-
(52 D TR SR TR 1)
@ Propane (Tzrei) (ii) Propene (cfem)
(m) Propyne (%) (iv) Chloropropane (GATETH)
@ @and@) ®)G)and(v) (c)(iii)and (iv) (d) (if) and ().
[Page 4 of 8]
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21.

23.

24,

25.

26.

T R (M EE A %
In the following cquation the values of x and y are
(Moea A waetoe x 0 y w064 -)
Cu + xHNO, — Cu(NO,), + yNO, + 2H,0
(@ 3and5 (b)Band6  (c)4and2  (d)7and 1

Hydrogen sulphide (H,8) is astrong reducing agent. Which of the following
reactions shows its reducing action

(H,S = B2 fatrs a1 fasa care Enos 2ot faead mf ornr 1)
(2) Cd(NOy), + H,S — CdS + 2ZHNO,

(b) CuSO, + 1,8 - CuS + H,50,

(€) 2FeCl,+H,S — FcCl, +2HCI +§

(d) Pb(NOy), + H,S = PbS + 2CH,COOH

Which of the following on dissolving in water gives asolution of pH less
than 7 at 298°K ?

(Rewa cvrm vl it vt pH 4 W1 7 Siestow] o 24 1)

(a) KCN (b) CH,COONa  (c) NuBr () NI, CI

Which one of the following ions has the same electron configuration as
the Al cation ?

(Fieees G b AL o v Zvalia Feus 1)

(a) F° (b)cr (c) §* (d) Ca?*

When 4 gm of NaOH is dissolved in ten litres of water then the pli of
the solution will be

(8 am NaOH s o fabia aret uitgw a0 gaca pH@I -)

(@ 6 (b) 12 (c)18 (d) 24

The molecular formula of an ester is C,H,COOC H,. The alcohol and
the acid from which it might be prepared are -

(7B rern it faws sieras C,H,COOC,H, | % «1alt ¢y etocien o
SIS (T vt T o1 e -)

(2) Propanol and propanoic acid (cetieif et @ ciigHfirs wife)

(b) Ethanol and butanoic acid (241 e REBIEle wyifie)
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{c) Ethyl alcohol and propanoic acid (%t symcaie @ CAITRIRR
wiHe)
(d) Ethanoic acid and propanol (SRrt1firs «ife o catteirm)
27. Which ofthe following is isoelectronic as well as has the same structure
asthatof N,O ?
(SR R N,0 R AT TR AT ¢ o wigfd RFES 1)
(a) HN, () H,O (c) NO, d) Co,
28. Which of the following has the most acidic character ?
(Rosn comd iR el eR 3TA)
(3) Sodiumoxide (b) Magnesium oxide
(¢) Aluminjum oxide (d) Phosphorous trioxide
29, The comect [UPAC name for the following compound -
(osw At AR IUPACAm & -)
CH.,(IZ‘H,CHCH,CH =CH,
OH

(8) S-hexen-3-o0l

(c) 2-hydroxy-5-hexene
30. Which of the following pairs are not isomers ?

(Nosw R et saate 7 1)

(a) N-butane and iso-butane

(c) 1-butyneand 1-butenc

GROUP-B 10x2=20

31. InthereactionMnO, +4HCl — MnCl, +2H,0+Cl, Identify which one
is reduced and which one is oxidized ?
(MnO, + 4HCl - MnCl, + 2H,0 + CI , SR i i Refire o
b wEe 1)

[Page6 of 8]

(b) 1-hexen-4-ol
(d) 4-hydroxy-1-hexene

(b) n-pentane and neo-pentane
(d) Ethanol and diethyl ether.

32.

33.

34.

35.

36.

37.

Aluminium is a reactive metal but is still used for packing food articles,
Why?

(i «nfl A 41y w16 aff 4ye) ACABEIS FATS g0 2 (e ©)
Aqueous solutionsof HC], HNO, and H,80, etc. Show acidic character
while those of the compounds like ethyl alcohol (C,H,OH)and glucose
(C,H,,0,) fail to do so. Explain. '

(HCI, HNO, ¢ H,SO, e B s g gl werer (C,H,0H)
@ g (C,H,,0,) 1 = - @=7)

Name any one alloy made from (i) a metal and a non-metal (ii) two
metals. (CU T b wicars a1 Szl e w1 1 -

)l g e g R Tesm

i) g R S 1)

Anelement ‘A’ reacts with water to form a compound ‘B’ which can be
used in white washing of buildings. The compound ‘B’ on heating forms an
oxide *C’ which on treatment with water gives back ‘B’. Identify ‘A’,
‘B, *C” and give the reactions involved.

(i Gt * A witeia 1w (3t * B TNt Bt o0 1t fRfre AW TS F0H
ST AW 1B TS © G I G0 WHRG *C' Bertd T AR
e R aRE ‘B Cem @ 'A’, ‘B e ‘C’ S IEFH )

A student has mixed the solutions of lead nitrate and potassium iodide.
What does he observed from this experiment ? Write the balanced
chemical equation for this reaction and identify the class of reaction it
belongs to.

(3 R TS G009 HATTA 1 #{G1 e e R fifars a7e1 | qoneh
1 R o 70 1 o REnla e e | RFh @ afies 1)

A reddish brown metal X when heated in presence of oxygen formsa
black compound Y which is basic in nature. When Y is heated with
hydrogen it gives back X. Identify X and Y. Write chemical reaction
betv/een Y and hydrogen gas.
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(R AR 418 X AfeT BofeTs Sed F4te e e HiFd ‘Y’
Beom 3| Y’ (3 WRGITHHA 7% 86 wa0e1 473t ‘X Termzh |1 ‘X8
Y @AE I Y’ @ RugEa e o 1)

38, Anorganiccompound Abas molecular formula C,H,0, and widelyused &
as a preservative in pickles. This compound reacts with ethanol to form !‘
a sweet smelling compound B. A can be obtained from ethanol. ¢
(9 e GO (A) TR H¢0S C,H,0 «RR A A RO |
¥ AR AR REF A g ‘B’ (e 3 | A (P &I (P AR T 1) ;
i) Identify Aand B. (A6 B @FAEI3) -.i

i) Name the reagent needed for the conversion of ethanol to A
(R (T A (3e & R e ) i
i) Which gas would be produced when compound A reacts with
(A, TG 3151 GIer RS R I W Sesia 313 2 ) ]

39. A compound which is prepared from gypsum has the property of harde-
ning when mixed with proper quantity of water. (i) Identify the compound.
(ii) Write the balance chemical equation for its preparation. (iii) Mention- -
one important use of this compound. -,
(fReeioTia] (AT 2iie 3D cNat A3 siftiel &ters RS Cpeiteet =%z 1|

: (i) CTAIfS 1o =7 1 (i) 2207 2o 1S ATel =14 1 (iii) @ 9o

| 3T @ |

40. With the help of chemical equations explain what happens when ethene

'\ reacts with

(@Fiafe 7R 7% 3 X5 T 7 3w RiFm g -)

i) alkaline solution of potassium permanganate
(IR IR ARG ZS)

i) concentrated sulphuric acid at 443 K followed by hydrolysis.
(443 K SI#{a1aty 7 Ao Re wifies AiRe qR SesaSinkes)

T WPPrYS A L

2T AR R | el JCRNR O CASAY Tl
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